


MATHECMATICS By Pradeep Sir

Q. (1-3) The given pie chart shows the
percentage distribution of 450 employees in
an organisation. Study the pie chart and

answer the question that follows.

f&ar mar urg 91d bt 9ea § 450 HHARAI

& % dc Pl SUTar g
UTE 91¢ BT AT B AR IR JdfUd Uy BT

IR S|

Percentage of Employees in different Dept.

(Total 450 Employees)

~

J
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L
Q. 1) What is the number oi 1 15% employees

working in department B?

8 Ty B 10 S99 ard SHaia 3 T &
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Q. 2) What is the central angle of the sector

representing the number of employees in

department A?
faUTT A § TGl ot 9B &1 AEua s34
mmmmmﬁ-
LEDT.
—_ (B) 36° %
36gx ¥F (C) 108°x
L/ (D) 90°
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[ Dfd &MP/?L_.a__SQ_L’ Q. 3) If 60% of the employees in department E
are females, how many male employees are
there}n that department?

gfe E faum & 60% HHERt aflgeny €, ot 3w
fauTT # qou SHanial &t &I J1d S|

(A) 72 | 00 -

M w
(B) >4 o 60
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Q. (4-6) The following pie chart shows
percentage expenditure of a country on
different heads. The total expenditure is 1,680
(in billions). Study the chart and answer the

question.
fFrafafea g =ré ufawa 4 8 sk gg fafim
el # gU Wd &I ST 81 o @9 T 1,680
(3R T) 21 TE BT HmTT FY SR 3T 7T U
BT IS
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Total Exp = 16 &0

Q. 4) The amount of expenditure on Defence is

what percentage more than the expenditure

on Education?

R&GIT (Defence) WX G| §§ ?TQT, ﬁT&ﬂ
(Eudcation) W @d g Wy A fpat wfiwra
AP 8 2 e I

(A) 50% ol X\OO

100!

(C) 150% 2
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Q. 5) The central angle of the sector

representing expenditure on Subsidy is:

A3l (Subsidy) TR §U &g &I A ad
s P AP g S
(A) 54.9° 7_71

(B) 90° ¥\

>y, 16€) 10834

3 Lg'x 2
T
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Loted Exp = | L o

Q. 6) The total amount of expenditure for
Education and Health (in billions) is:

ure A% H, AT (Education) 3R WA
(Health) U &9 88 $d I (T 3T H) FTd B
—

(B) 126

(C) 186

(D) 84

b shx% 5 )48
—
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Q. (9-10) Study the pie-chart and answer the
question, Distribution (degree wise) of the
total number of employees of a company in its
five offices A, B, C, D and E.

UTS-91E BT AT B AR IS 91¢ 53 T uy
BT I ¢-

f&dt =t & HHARAT BT ATBH A, B, C, D
3R E ¥ faavor (& #)

Total Number of employees / ¢ PHART =
9200
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Direction (14-16) - Study the following pie-
chart and table to answer the questions.

fAmifea urg 91 &1 Jwgs Fifve R ITSH
are fau v uy &1 397 difome
Total number of students admitted in a
university in various fields = 5000
fq # fafis doral # uawr @4 ara
| 1 HSAT 5000 3 |

Distribution of the number of students into
various fields:

fafirs Sl | fAentdal &t 9= &1 84 -
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[ o ted Stur= Sooo .

Q. 14) What is the average number of boys in
CS, ECE and EEE fields?

CS, ECE 3R EEE WoTdl § TS®! 31 3M¥d HEm

fpatg?
R R
(A 406 S TN a:g* g~ >>°
74 .
Ec € =) w?qxw$1lzra 5{‘9
(C) 514 Lo2 )

(D) 516

fEE)?Jé}% /
"'_:é e 518

G 3
,)§o A~
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Q. 15) The ratio of the number of boys in
Economics to the number of students in
Economics is: L.

FPHINGH H TSPl Bl T-AT B, DI H
@ﬂﬁmﬁuﬁaﬁmﬁwmév

(A) 13:25 d/’a ox 12 o 6LoO

B

' A 33
© 1225 (soeox 'Rl se = -
| X1 =, [oo

(D) 17:25

23t 6°°
/x;/ yﬁx% S:bw | u: 28

—
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Q. 16) What is the difference between the
number of girls in IT and number of girls in

ECE?

nﬂ‘asﬁ?u}aﬁmaﬁvsceﬁa'sﬁm’faﬂ
@I | fbaar oaw & 2
(A) 25 ,go'cﬂ'x&f‘x?‘s- 2 24§
]
(C) 20 _ggﬁlj( w8 e ALY
(D) 30 Too' TP

s %) )
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Q. 17) What is the ratio between the number
of students studying agriculture in year 2001

and 2002 respectively.
gy 2001 3R a9 2002 # FY F JGIRT S|

B! B3 & S HH: AUTd TT 82
(A) 11:12 B

* o
(B) 4:3 oy

a
[ —————

(D) 8:9
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Q. 18) The number of students studying in

science has increased/decreased by what
percent in comparison to year 2001 (upto the

nearest whole no.)
a9 & reg=Rd BTl 3 JWI | a9 2001 B
g1 | far wiawra o1 gis/®H! g8 (Rdcan
3P YUITd dP) ? 1369&%,3 432]
a —
(A) 27% increase/ 27% ql& + 2o0 k31 €50
)QB) 27% decrease / 27% HHI {;(0 —
(C) 21% increase / 21% q@ '_'__gi,)aoo )
YAD) 21% decrease / 21% Sul Jd}} dR Tl°
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The given histogram shows the height of the
students.

f&ar mar ey ot it $arE exfar g
Q. 19) The difference between the number of
students whose height is between 150-155 cm

the number of students whose height lies
between 175- 180 cm is:

150-155 AW & 19 Bt SHATS aTd BT Bt BT

3 175- 180 AW & o9 P HATE I BET Bt
S & 99 3id¥ J1d B
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Q. 20) What is the percentage of students
whose height is in the class interval 160-170?

(correct to the nearest integer)

waa’fmufémamaﬁ f%raaﬂwéatf
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X 100
MWa =

Q. 21) The number of students whose height is
in the class interval 170-175 is what percent
less than the number of students whose height
iIs in the interval 165-170? (correct to one
decimal place)

aﬁmnmaﬁmﬁmﬁﬁmﬁu’faﬁ

3R Pl Harg ard
ﬁmﬁu’faﬂmﬁ yfasd &9 & 2
(GHAT & TP W dP Y5)

(A) 17.3%

(D) 19.5%

| y %// ly.3/-

=4
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—————
SO0-5050

606070 7080 80.90 290.10C

Speed in km/h

The given histogram shows the frequencey
distribution of the speed of cars passing
through at a particular spot on a highway.

Study the graph and answer the question that
follows:

fear mar iR IeErl W it Aty wi=
¥ Ok ardlt $RI $ 910 & dRaARdl e
(frequencey distribut;il?al?ﬁ SUTar g1 TP &I
AT B MY ITA Hafd Uy H1IWR < |
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Fgifea Bwum &1 wga &3, o Hdl
uﬁ&nﬁaﬁ’fmmmn%maﬁzzﬁm%
3R ISP 91 13U Uy HT

Q.25 The number of students who obtained
less than 250 marks is:

;%oﬁmmmmﬁaﬁmaﬁmm
|
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Q. 25) If the total marks obtained by students
be represented as a pie chart, then the central
angle corresponding to marks 250 or more but
less than 300 is: (Correct to the nearest
degree)

DEI GRT U fHT U F 3Pl ot TP uTs
& ¥ # yeiia foar sme, af 250 a1 3ifte,
AP 300 F FH 3P qTd guES I HI0T
feamenm (Mdcau siwrd®d)
A) 188°
(D)B*")o
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Q. 26) The number of students who obtained
less than 350 marks is what per cent more
than the number of students who obtained
400 or more marks? (correct to one decimal
place

350 ¥ HH 3P U HA ard SEAI Bl HSA,
400 1 3HR P 3P U B @ BT B

=TT ufarg sfie 8 ? @IHad & U
WEdd e
35s0J — | 30 (A) 350%

100%
oo & 2 e BT

— (D) 375.8%)4

——
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The following histogram shows the weight of

students of class X in a school on a particular

day. Total number of students enrolled in class

X = 200.

ﬁa feweum ve fadiy 9 W v faenmeg &
&1 X & BEl BT doi4 Il 8l P&T X H

#mTf%s'a O $1 T BT 200 & |

Q. 27) The number of students weighing less
than 55 kg is what percentage less than the
number of students weighing 55 kg to 65 kg?

55 {531 d 1 quiF arad STl Bt HWB3AT 55 fH.a
¥ 65 %mwmaﬁmﬁﬁmﬁuﬁm

FUE?

y ) () 39% 2
© 447
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Q.(28-30) Study the given histogram that
shows the marks obtained by students in an
examination and answer the question that

follows.

fgifea ey &1 gy &Y, ot f&
gdtern # S gRT Ui fPe v 3wl & gwiar &
3R ITP 1 AT T UY BT IR G|
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Q. 28) The number of students who obtained
less than 250 marks is what per cent more
than the number of students who obtained
400 or more marks? (correct to one decimal

|
250 T 37 T T A ST P} TG 400
qr AP 3P YT B ard BTAT DI GSAT

g uiad 3ify® € ? (@Had & U W
a® e
A) 150%
Lase = s
(C) 175.8%
fuo® — 35 (D) 100%

i&'ﬁ“’o = LY/
335, A~
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Q. 29) The number of students who obtained

less than 20() marks is: |
200 ¥ FH P UItd HI4 aTd BT B T=AT J1d

Cord —
INYE

(D) 135
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Q. 30) If the total marks obtained by students
be represented as a pie chart, then the central
angle of the sector representing marks 200 or

more but less than 300, is:

gfe Bl gRT WK fHU 7T F il $it T UTg
are‘ésmﬁuzﬁfa%mﬁ a’tzoomm

d% Jet
Totedt St = s
(B) 128°
200-3.0 — 1957 (c)gge
D) 68°
360*:2—5’ D 2
e @ -,Si'o; 1SV~

“q
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o aal o faty= =1 & oo s o |

e Q. 35) The population of state 'C’ in the year
1997 and the year 1998 was in the ratio 2: 3
respectively. What was the ratio of their
literate population respectively?

IS 'C' Bl a9 1997 3R ¥ 1998 H SHE®
U 2:3 & U H 4| ITP! A1&R TS
DT SHUTd PHI: HT YT ?

(A) 51:82

(B) 15:18

(C) 9:13

(D) 52:81
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o aal o faty= =1 & oo s o |

erchourr o Q. 35) The population of 'B’ state increased by
10% every year. If its total population in 1999
was 10 lakh, then what its literate population
in 2001?

'B' 34 B! sEE # ufd af 10% i3 g5 1 afe
1999 H SUPI T SUBAT 10 TG oY, @1 2001
H sHS! HIGR TSI fba-t At 2

(A) 10,52,700

(B) 9,57,000

(C) 11,52,400

(D) Can't determine
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o aal o faty= =1 & oo s o |

Q. 35) The population of ‘D’ state was same in
1998 and 2001. What was the approx.
percentage increase in literate population
from 1998 to 2001?

'D’ Y59 B 1998 3R 2001 H FHSI TS GHH
4t1 1998 | 2001 T HIGR FES H AT
fra wfawra afs 8% 2

(A) 17

(B) 15

(C) 16

(D) 18

CEL LN AR G MG
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L e . Q. 35) In 1998, the six states had a similar

AAHIA &l W94

population of 12 lakhs. What was the average
literate population in all the states in that
year?

1998 H, BE Il H 12 @@ $I T& THAH
saen 4t 39 ad it st | aﬁwa &R
Sae faa-t 3t 2

(A) 9,88,000

(B) 10,56,000

(C) 9,60,000

(D) 10,28,000
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o ot o fafy= = & &0 s o Jige

wrowreraon Q. 35) If the average population of all the
- states in 1999 was 12.5 lakh, then what was
the aver- age literate pc;%ulation in that year?

gfe 1999 H ¥d Il BI MTd FTTHSAT 12.5

flﬁT@ At 39 a9 3d "IaR Saue fea-t
?

(A) 10.25 Lakh / 9@

(B) 10.75 Lakh / 9T

(C) 11 Lakh / T

(D) Can’'t determine
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fﬁrém(ssss)ﬁmf%r%amﬁmméﬁésm
qrg dic ad gIRO &1

Ko |%@ﬁﬁmﬂévsé
w%mﬁaﬂmaﬂﬁmmﬂmaﬁ

HEdl = 4500

I A v Sl
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Q. 36) The total number of boys in the school
with standard VI and VIl together is
approximately what percent of the total

number of boys in the school?

™~ faemerg & Wss vI Td vil 3 Taet as@! ot
.~ _al od SO fagmeg | a9 & $a BT B
‘ (A) 38
HEL
(C) 30
EL
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T— - S——
| PUEE R U SR
HEN F1 ¥4

0. 37) What is the difference between the total
number of boys and girls studying all the
standards of the school together?

fdameg & ot W€ & ey ued I
g?:gaﬁqﬁamaﬁgmm%mwsm
(A) 242
(B) 224
(C) 244
(D) 246
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Q. 38) The ratio between the number of boys
in Standard VI and IX together and the
number of girls in Standard V and VIl together

are respectively.

WSS VI T4 IX P arey dea! ot IS v
WSS V U4 VIl 3 farer asfeal 3t =

i

HEN 1 ¥9TA4

(A) 19:18
(B) 16:15
(C) 19: 16
(D) 19:17




